% % ﬁ ! 6 Esponenti negativi di 10

Nome: Data: Punteggio:
6x 1007 = 630,8 x 10 =
1071 = 159 + 10" =
530 + 107 = 621,2 % 1003 =
880,7+ 1001 = 8 x 10 =
3% 10 = 100D =
584, 1 x 1009 = 615,4 x 10* =
179,2 x 1079 = 628,5 x 100 =
3x 1000 = 7% 107 =
737,1+10° = 1004 =
5% 10072 = 100D =
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1.2 3 R

Esponenti negativi di 10

Nome:

6 x 1002 = 0.06

1077 = 0.1

530 + 107 = 530000
880,7 + 10" = 8807
-3 x 1072 = —0.03
584,1 % 10 = 0.05841
179,2 x 107 = 0.01792
3x 1070 =03
737,1+10* = 7.371

5% 107 =0.05

Data:

630, 8 x 107 = 0.6308
159+ 107D = 1590
621,2 x 1072 = 0.6212
8 x 10 = 80

107 = 0.1

615, 4 x 10* = 61540
628,5 x 107 = 0.6285
7% 10% =700

107 = 0.0001

1000 = 0.1
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Punteggio:
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